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QUESTION 1

A Deployment Solution administrator is creating a job to capture an image of a computer\\'s hard drive using a Disk
Image task. What should precede the Disk Image task? 

A. a task to run Sysprep 

B. a task to defrag the disk 

C. a task to run PC Transplant 

D. a task to capture the computer\\'s OS license key 

Correct Answer: A 

 

QUESTION 2

A system administrator has set up a custom security role to allow some desktop administrators a particular combination
of software management and software update abilities. When the desktop administrators use the console, they have
right-click options for performing desired operations, but when using these operations they get failure messages
indicating that they have insufficient access. Which modification needs to be performed on the desktop administrators\\'
security role to allow sufficient access? 

A. Additional privileges need to be added to therole. 

B. Additional permissions need to be added to therole. 

C. They have to be made members of the local Administrators group on the server. 

D. They have to be made members of the local Administrators group on the desktops. 

Correct Answer: B 

 

QUESTION 3

Which statement is true about the Application Metering feature of Inventory Solution? 

A. It tracks and compares changes to application files and registry keys. 

B. It monitors and denies the usage of applications on the network. 

C. It gathers detailed information about application files. 

D. It limits the usage of applications to purchased licenses. 

Correct Answer: C 

 

QUESTION 4
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Based on a corporate policy, every 12 months one-third of the organization\\'s computers are replaced with new
systems. This results in very large purchase orders being placed all at the same time. Their current replacement
processes cause significant productivity losses for the users during the replacement period. What can Deployment
Solution do to help reduce their productivity losses? 

A. It can simplify the deployment process by bundling all steps for new system builds into a single automated policy
including operating systemdeployment, software provisioning, and user configuration. 

B. It can allow for automatic creation of new computer records from an imported lists of computer information from the
manufacturers, whichsimplifies the imaging process. 

C. It can simplify the process of computer deployments to departments by coordinating with an Active Directory
connector for automatedconfiguration setting tasks. 

D. It can add an interface in the console to simplify and synchronize deployment schedules by allowing department
heads to enter personalmaintenance plans. 

Correct Answer: B 

 

QUESTION 5

Altiris Client Management Suite 7.1 Solutions (such as Patch Management Solution, Inventory Solution, and Software
Delivery Solution) have been integrated into the Software Management Framework. What is a benefit of this
integration? 

A. It allows all applications installed on the framework to be accessed by all solutions. 

B. It allows different versions of an application installed on the framework to run side byside. 

C. It allows all solutions built on the framework to eliminate duplication of work anddata. 

D. It allows all solutions built on the framework to use different sets of resources. 

Correct Answer: C 
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